Sub-Section Number : 8
Sub-Section Id : 640653133711
Question Shuffling Allowed : Yes

Question Number : 202 Question Id : 640653902494 Question Type : MCQ Calculator : Yes
Correct Marks : 2
Question Label : Multiple Choice Question
1 =
Let A= |2
0

. Find the nullspace of A.

= 2 D

!
2

Options :

1
span —2
6406533039580. ¢ :

il

1

spml{
6406533039581. #
0
0
0

(
|

6406533039582, #

1 2
h‘pﬁll{ 2 3

0 1

6406533039583. #
Java

SectionId : 64065364078
Section Number : 10
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 100
Display Number Panel : Yes
Section Negative Marks : 0

Group All Questions : No



Enable Mark as Answered Mark for Review and

Clear Response: No

Maximum Instruction Time: 0

Sub-Section Number : 1

Sub-Section Id : 640653133712
Question Shuffling Allowed : No

Question Number : 203 Question Id : 640653902495 Question Type : MCQ Calculator : Yes
Correct Marks : 0
Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "DIPLOMA LEVEL : PROGRAMMING CONCEPTS
USING JAVA (COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS
REGISTERED BY YOU)

Options :
6406533039584, ' YES
6406533039585. # NO

Sub-Section Number : 2
Sub-Section Id : 640653133713
Question Shuffling Allowed : Yes

Question Number : 204 Question Id : 640653902496 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question



Consider the Java code given below.

class Monitor {
public void screenSize() {
System.out.println("Normal screen size");
}
public void resolution() {
System.out.println("Normal resolution");

}
}
class LCD extends Monitor {
public void screenSize() {
System.out.println("Screen size is large");
}
}
class LED extends Monitor {
public void screenSize() {
System.out.println("Screen size is medium");

}

public void resolution() {
System.out.println("HD resolution");

}

}
public class Test {

static void show(Monitor[] monitors) {
for (int i = 0; i < monitors.length; i++) {
monitors[i] .screenSize();

monitors[i] .resolution();

}
public static void main(String[] args) {

Monitor[] monitors = {new LCD(), new LED()}; // LINE 1
show(monitors) ;

}

Choose the correct option.

Options :
This code generates the output:

Screen size is medium
HD resolution
Screen size 1s medium

6406533039586, # HD resolution

6406533039587. #



This code generates the output

Normal screen size
Normal resolution
Normal screen size
Normal resolution

This code generates the output:

Screen size is large
Normal resolution
Screen size is medium

6406533039588, v HD Tesolution

Compilation error at LINE 1 because a reference variable of type Monitor can-

6406533039589, % not refer to an object of class LED

Question Number : 205 Question Id : 640653902497 Question Type : MCQ Calculator : Yes
Correct Marks : 4

Question Label : Multiple Choice Question



Consider the code given below that checks whether two candidates are from the same
college. Method equals 1s overridden to compare two Candidate objects as follows. If
two candidates are from the same college then they are said to be equal. Based on the
given information, answer the question that follows.

class Candidate {
private String name;
private String college;
// Constructor to initialize instance variables
public String toString() {
return nane;

}

public boolean equals(Object obj) {
// CODE BLOCK
}
}
public class Test {
public static void main(String[] args) {
Candidate cl = new Candidate("Shreya", "IITMadras");
Candidate c¢2 = new Candidate("Hari", "IITDelhi");
Candidate ¢3 = new Candidate("Aisha", "IITMadras");:
if (c1.equals(c3)) {
System.out.println(ci + " and " + c3 + " belong to the same college");
}
if (c2.equals(c3)) {
System.out.println(c2 + " and " + ¢3 + " belong to the same college");

}

}
Choose the correct option to fill m place of CODE BLOCK so that the output 1s:

Shreya and Hari belong to the same college

Options :

if(obj instanceof Candidate) {
if(this.college.equals(obj.college))
return true;

}
6406533039590, % return false;

if(this.college.equals(obj.college))
return true;

6406533039591, % return false;

6406533039592. ¢



if(obj instanceof Candidate) {
Candidate c = (Candidate) obj;
if (this.college.equals(c.college))
return true;

+

return false:

if (obj instanceof Candidate) {
Candidate c = obj;
if (this.college.equals(c.college))
return true;

}
6406533039593, % return false;

Question Number : 206 Question Id : 640653902498 Question Type : MCQ Calculator : Yes

Correct Marks : 4
Question Label : Multiple Choice Question



Consider the Java code given below.

class Intern {
private String name;
public Intern(String n) {
name = n;
}
public Intern(Intern i) A
this.name = 1.name:;

)

public void setName(String n) {
name = n;

}

public String getName() {
return name;
}
}
public class Test {
public static void main(String[] args) {
Intern i1 = new Intern("Jaya");
Intern i2 = new Intern(il);
Intern 13 = 11;
i1.setName ("Subash");
System.out.println(il.getName());
System.out.println(i2.getName());
System.out.println(i3.getName());

}

What will the output be?

Options :
Subash
Jaya

6406533039594, % Jaya

Subash
Jaya

6406533039595, + Subash

Subash
Subash

6406533039596, % Subash

Subash
Subash

6406533039597, % Jaya



Question Number : 207 Question Id : 640653902499 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the code given below.

class Device {
public void powerOn() {
System.out.println("Device is on");

}
+

class Mobile extends Device A
public void display() {
System.out.println("Mobile display");
>
class Smartphone extends Mobile {
public void display() {
System.out.println("Smartphone display");
+
public void connect() {
System.out.println("Connected to Internet");

}
+

public class TestDevice {
public static void main(String[] args) {
Device d = new Mobile();
Mobile m = new Smartphone(); // LINE 1
d.powerOn() ;
((Mobile)d) .display(); // LINE 2
m.connect(); // LINE 3

+

Choose the correct option.

Options :

LINE 1 generates a compilation error because a variable of type Mobile cannot
6406533039598, # refer to an object of type Smartphone.

LINE 2 generates a compilation error because a variable of type Device cannot
6406533039599, % be type cast to an object of type Mobile

6406533039600. ¥



LINE 3 generates a compilation error because the method connect() is not
defined in class Mobile.

This code generates the output:

Device is on

Mobile display
6406533039601, % Connected to Internet

Question Number : 208 Question Id : 640653902500 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the Java code given below.

import java.util.*;
public class Test{
public static void main(Stringl[] args) {

ArrayDeque<String> queuel = new ArrayDeque<String>();
queuel.add("Violet");
queuel.addFirst("Yellow") ;
queuel.add ("Pink") ;
queuel.addFirst ("Blue");
queuel.add ("Blue");
System.out.println(queuel);
TreeSet<String> set = new TreeSet<String>(queuel);
System.out.println(set);

What will the output be?
Options :
This program generates the output:

[Blue, Yellow, Violet, Pink, Blue]
6406533039602.@?[Blue- Pink, Violet, Yellow]

This program generates the output:

[Blue, Pink, Viclet, Yellow]

6406533039603, % LBlue, Yellow, Violet, Pink, Blue]

This program generates the output:

[Blue, Pink, Viclet, Yellow]
6406533039604, % [Blue, Pink, Violet, Yellow]



This program generates the output:
[Blue, Yellow, Violet, Pink, Bluel
6406533039605 £ [Elue, YE]_]_'DW, viﬂlet, Plnk, E].HE]

Question Number : 209 Question Id : 640653902501 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the Java code given below.

class Chef {
String name;
public Chef(String n) {
name = n;
I
}
class Dish implements Cloneable {
String dishlName;
Chef[] chefs;
public Dish(String name, Chef[] chefs) {
dishName = name:
this.chefs = chefs:
I
public Dish clone() throws CloneNotSupportedException {
Dish d = (Dish) super.clone();
d.chefs = this.chefs.clone();
return d;
}
}
public class Test {
public static void main(String[] args) throws CloneNotSupportedException {
Chef[] chefs!l = { new Chef("Ravi"), new Chef("Raju") };
Dish di = new Dish("Biriyami", chefsi);
Dish d2 = di.clone();
Chef[] chefs? = d2.chefs;
chefs2[0] .name = "Veena";
d2.dishName = "FriedRice":

System.out.println(dl.dishName + " : " + di.chefs[0] .name);
System.out.println(d2.dishName + " : " + d2.chefs[0].name);

What will the output he?



Options :
Biriyani : Veena

6406533039606, # Biriyani : Veena

FriedRice : Veena
6406533039607, ¥ FriedRice : Veena

Biriyani : Ravi
6406533039608, # FriedRice : Veena

Biriyani : Veena
6406533039609, « FriedRice : Veena

Question Number : 210 Question Id : 640653902502 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the Java code given below.

import java.util.*;
public class Test {
public static void main(String[] args) {

List<String> list = new ArrayList<String>();
list.add("Date")};
list.add("Durian");
list.add("Banana") ;
list.add("Cherry");
list.add("Dragonfruit");

list.stream() . takeWhile(s -> s.startsWith("D"))
.forEach(s -> System.out.print(s + " "));

System.out.println();

list.stream() .dropWhile(s -> s.startsWith("D"))
.forEach(s -> System.out.print(s + " "));

What will the output be?
Options :

Date Durian Dragonfruit
6406533039610, % Banana Cherry



Date Durian
6406533039611, # Banana Cherry

Date Durian
6406533039612, « Banana Cherry Dragonfruit

6406533039613, % Date Durian Banana Cherry Dragonfruit

Question Number : 211 Question Id : 640653902505 Question Type : MCQ Calculator : Yes
Correct Marks : 4

Question Label : Multiple Choice Question
Consider the Java code given below.

! class ClassOne{

2 public void methodOne(){
3 i P

4 nethodTwo() ;

5 0

6 }

7 public void methodTwo(){
8 2

9 }

10 }

11 class ClassTwo{

12 public static void methodThree(){

13 i

14 ClassOne ¢ = new ClassOne():
15 c.methodOne();

16 E s

17 }

18 public static void methodFour(){
19 o S

20 methodThree() ;

21 i -

22 }

23 public static void main(String[] args) {
24 PE s

25 methodFour () ;

26 }

AL,

During the execution of Line 16 m the above code, the activation record of which method
18 at the top of the stack of activation records?



Options :
6406533039622, ¥ main

6406533039623, # methodUne

6406533039624, ¥ methodTwo

6406533039625, « methodThree

6406533039626, % methodFour

Question Number : 212 Question Id : 640653902506 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question



Consider the Java code given below.

interface TransportService {
void bookRide();
}
class TransportApp {
public TaxiService getTaxiService() {
return new TaxiService();
+
public BusService getBusService() {
return new BusService();
}
private class TaxiService implements TransportService {
public void bookRide() {
System.out.println("Booking a taxi");
}
}
private class BusService implements TransportService {
public void bookRide() {

System.out.println("Booking a bus");
L

I

public class Test {
public static void main(String[] args) {
TransportApp t = new Transportipp();
//CODE BLOCK

objl.bookRide();
obj2.bookRide() ;

}
Choose the correct option to fill in place of CODE BLOCK so that the output 1s:

Booking a taxi
Boocking a bus

Options :
TaxiService objl = new TaxiService();
6406533039627, % BusService obj2 = new BusService();

TransportService obji
6406533039628, ¥ 1ransportService obj2

t.getTaxiService();
t.getBusService();

TaxiService objl = t.getTaxiService();
6406533039629, ¥ BusService obj2 = t.getBusService();



new TaxiService();
new BusService():

TransportService objil
6406533039630, # TransportService obj2

Question Number : 213 Question Id : 640653902507 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the Java code given below.

interface OnlineCourse {
default void showDetails() {
System.out.println("Course duration is 3 months");
}
default void enroll() {

System.out.println("Enrolled");

}
class CloudCourse implements OnlineCourse { //LINE 1
public void enroll() {
System.out.println("Enrolled in cloud course");

i
}
class MLCourse implements OnlineCourse { //LINE 2
public void showDetails() {
System.out.println("ML Course");
F
}
public class Test {
public static void main(String[] args) {
OnlineCourse courses[] = new OnlineCourse[2];
courses[0] = new CloudCourse();
courses[1] = new MLCourse();
for (OnlineCourse course : courses) {
course.showDetails():
course.enroll () ;

Choose the correct option.

Options :
Complation error at LINE 1 because method showDetails () 1s not overridden
6406533039631, # 1n class CloudCourse



Compilation error at LINE 2 because method enroll() is not overridden in
6406533039632, # class MLCourse

This program generates the output:
Enrolled in cloud course
6406533039633, # ML Course

This program generates the output:
] [ ]

Course duration is 3 months

Enrolled in cloud course
MLCourse

6406533039634, v tnrolled

Question Number : 214 Question Id : 640653902508 Question Type : MCQ Calculator : Yes
Correct Marks : 4

Question Label : Multiple Choice Question



Consider the Java code given below.

abstract class Bag {
abstract void open();
void carry() { // LINE 1
System.out.println("Carrying bag");
E
}
class Backpack extends Bag {
void open() {
System.out.println("Opening backpack");
i
void carry() {
System.out.println("Wearing backpack");
E
}
class ToteBag extends Bag {
void open() {
System.out.println("Opening tote bag");
i
void carry() {
System.out.println("Holding tote bag");
b
}
public class Test {
public static void main(String[] args) {
Bag bagl = new Backpack(); // LINE 2
Bag bag2 = new ToteBag(); // LINE 3
bagil.carry();
bagi.open();
bag2.carry();
bag2.open();

+
Choose the correct option.

Options :
LINE 1 generates compilation error because abstract class must contain only
6406533039635, # abstract methods.

LINE 2 and LINE 3 generate compilation errors because reference variable of
6406533039636, # type Bag cannot store the objects of type Backpack and ToteBag.

6406533039637. ¥



This program generates the output:
Wearing backpack
Opening backpack

Holding tote bag
Opening tote bag

This program generates the output:
Carrying bag
Opening backpack
Carrying bag
6406533039638, # Upening tote bag

Question Number : 215 Question Id : 640653902509 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question



Consider the Java code given below.

interface Iterator{
public boolean has_next();
public Object get_next();
}
abstract class Printable{
public abstract void print();
}
class ProductList{
private final int limit = 3;
private Product[] list = { new Product("Laptop", "P1001"),
new Product("Smartphone", "P1002"),
new Product ("Smartwatch", "P1003")
e
private class Product extends Printable{
private String name, productld;
//Constructor to initialize instance variables
public void print() {
System.out.println(productld + ", " + name);

}
¥

private class ProdIter implements Iterator{
private int indx;
public ProdIter() {
//constructor
}
public boolean has_next() {
//1f next element available in list return true;
//else false
}
public Object get_next() {
//return next element from list

i

}

public Iterator getIterator() {
return new ProdIter();

}



public class IterTest {
public static void main(String[] args) {
ProdlList plist = new ProdlList();
Iterator iter = pList.getIterator();
while(iter.has_next()) {

: //LINE 1

Identafy the appropriate statement to fill in the blank at LINE 1, such that the output

18:
P1001, Laptop

P1002, Smartphone
P1003, Smartwatch

Options :
6406533039639, v ¢ (Printable)iter.get next()).print()

6406533039640, % ((Product)iter.getnext()).print()

6406533039641, ¥ ((ProdList)iter.get mext()).print()

6406533039642, % iter.get next().print();

Question Number : 216 Question Id : 640653902511 Question Type : MCQ Calculator : Yes

Correct Marks : 4
Question Label : Multiple Choice Question



Consider the Java code given below.

import java.util.;
class ZeroValueException extends Exception {
public String toString() {
return "Zero encountered during update";

}

}
public class Test {

public static void update(int[] array, int index) throws ZeroValueException

{
if (array[index] == 0) {
throw new ZeroValueException();

}
array[index] = array[index] * 5;

}
public static void main(String[] args) {
int[l arr = {1, -1, 0, 2, =2}
try {
for (int 1 = 0; 1 < arr.length; i++) {
update(arr, i);
}
} catch (ZeroValueException e) {
System.out.println(e);

}
for (int n : arr) {
System.out.print(n + " ");

}

What will the output be?

Options :
6406533039647, % Zero encountered during update

6406533039648, * ° 2 0 2 -2

Zero encountered during update
6406533039649, ¥ 5 -5

Zero encountered during update
6406533039650. ¢ 5 -5 0 2 -2

Question Number : 217 Question Id : 640653902512 Question Type : MCQ Calculator : Yes



Correct Marks : 4

Question Label : Multiple Choice Question

Method Optional.oflNullable(T value) returns an Optional that describes the specfic
value, if non-null; otherwise returns an empty Optional.

Based on this description, consider the code given below, and answer the question that
follows.

import java.util.¥;
class Movie {
HashMap<String, String> actors = new HashMap<>();
public Movie() {
actors.put ("Action", "Akshay");
actors.put ("Comedy", "Kapil");
}
public String getActor(String genre) {
return actors.get(genre);

}
}
public class Test {
public static void main(String[] args) {
Optional<String> al = Optional.ofNullable(new Movie().getActor("Action"));
Optional<String> a2 = Optional.ofNullable(new Movie().getActor("Thriller"));
al.ifPresent(n ->System.out.println(n.toUpperCase()))
))

a2.ifPresent(n -> System.out.println(n.tolUpperCase()));

Choose the correct option.

Options:
This program generates the output:

6406533039651, v AKSHAY

This program terminates due to NullPointerException after printing the
message:

6406533039652, *# AKSHAY

This program generates the output:
AKSHAY

6406533039653, ¥ null

This program generates the output:
ACTION
6406533039654, % AKSHAY



Question Number : 218 Question Id : 640653902513 Question Type : MCQ Calculator

Correct Marks : 4
Question Label : Multiple Choice Question

Consider the Java code given below.

import java.lo.¥;
class HealthCard implements Serializable {
private String cardNumber = "#x#xxx";
private transient String insuranceProvider = "Unknown";
private String issueDate = "00/00";
public HealthCard(String cN, String iP, String iD) {
cardlumber = cN:
insuranceProvider = 1iP:
1ssuelate = 1D;
}
public String toString() {

return cardNumber + ", " + insuranceProvider + ", " + issueDate:

}
}
public class Test {
public static void main(String[] args) throws Exception {
var fos = new FileOutputStream("healthcard.txt");
var os = new ObjectOutputStream(fos);

os.writeObject(new HealthCard("H123456", "HInsurance", "03/24"));

os.close();

var fis = new FileInputStream("healthcard.txt");
var o1s = new ObjectInputStream(fis);
HealthCard card = (HealthCard) ois.readObject();
ois.close();

System.out.println(card);

What will the output be?

Options :
6406533039655, ¥ null, null, null

6406533039656, « H123456, null, 03/24

6406533039657, % H123456, Unknown, 03/24

6406533039658, ¥ H123456, HInsurance, 03/24

6406533039659, # ******xx, Unknown, 00/00

:Yes



Question Number : 219 Question Id : 640653902514 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the Java code given below.

1mport java.util.¥;
1mport java.util.stream.x;
class Car {
private String model;
private double mileage;
//Constructor to initialize instance variables
public double getMileage() {
return mileage;
}
public String toString() {
return model:

}
}
public class Test {
public static void main(String[] args) {
var carArr = new ArrayList<Car>();
carArr.add(new Car("Toyota", 20.5));
carArr.add(new Car("Ford", 25.3));
carArr.add(new Car("Honda", 18.9)):
carArr.add(new Car("Chevrolet", 22.0));
Map<Boolean, List<Car>> mileageMap;
mileageMap = carArr.stream()
.collect (Collectors.partitioningBy(c -> c.getMileage() >= 22.0));
System.out.println(mileageMap.get(false));

Choose the correct option.

Options :
6406533039660, % Lhis program generates the output: [Ford, Chevrolet]

6406533039661, % 1his program generates the output: [Ford]

6406533039662, « 1his program generates the output: [Toyota, Honda]

6406533039663, ¥ Lhis program generates the output: [Toyota, Honda, Chevrolet]



Question Number : 220 Question Id : 640653902515 Question Type : MCQ Calculator : Yes
Correct Marks : 4
Question Label : Multiple Choice Question

Consider the code given below. Assume that the file food.txt contains the following

lines of text i 1t.

A balanced diet 1s key to good health.

Food provides essential nutrients for the body.

Food preparation 1s an art form.

import java.lo.*;
import java.util.Scanner;
public class Example {
public static void main(String[] args) {
try {
var in=new FileInputStream("food.txt");
var scanner=new Scanner(in); //LINE 1
System.out.println("Data from file:");
System.out.println(scanner.nextLine());
System.out.println(scanner.next());
System.out.println(scanner.nextline());
}
catch (FileNotFoundException e) {
System.out.println("File does not exist.");
}
catch (I0Exception e) {
System.out.println("Error in writing a file.");

}

Choose the correct option.

Options :
6406533039664, % LINE 1 generates I0Exception.

This program generates the output:

Data from file:

A balanced diet is key to good health.

Food provides essential nutrients for the body.
6406533039665, % Food preparation is an art form.

6406533039666. ¥



This program generates the output:
Data from file:

A balanced diet 1is key to good health.
Food

provides essential nutrients for the body.

This program generates the output:
[ [ ]

Data from file:

A balanced diet is key to good health.
A

6406533039667, % Food preparation is an art form.

Sub-Section Number : 3
Sub-Section Id : 640653133714
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 640653902504 Question Type : MCQ Calculator : Yes
Correct Marks : 5

Question Label : Multiple Choice Question



Consider the Java code given below.

import javax.swing.*;
import java.awt.x;
public class GUITest extends JFrame {
JPanel pnllbl, pnlTxt, pnlBtn;
JLabel 1blId, 1blPwd;
JTextField txtlId, txtPwd;
JButton btn;
public GUITest() {
1blId = new JLabel ("Phone no:");
1blPwd = new JLabel("OTP:");
txtId = new JTextField(10);
txtPwd = new JTextField(10);
btn = new JButton("Login"});
pnllbl = new JPanel();
//add 1blId and txtId to pnlLbl
polTxt = new JPanel();
//add 1blPwd and txtPwd to pnlTxt
pnlBtn = new JPanel();
//add btn to pnlBtn

//CODE BLOCK

setVisible(true) ;
setSize (300,200) ;
}

public static void main(String[] args) {
new GUITest();
 ;

Choose the correct option to be filled in place of CODE BLOCK such that the above program
produces the GUI given below.

s s O X
Phonann:| I

oTP: | I

Login

Figure 1

Options:
add(pnlLbl, "Center");
add(pnlTxt, "North");
6406533039618, % add(pnlBtn, "South");

add (pnlLbl, "North");
add(pnlTxt, "South");

6406533039619, % add(Pﬂ].Etﬂ, "Center") ;



add(pnlLbl, "North");
add(pnlTxt, "Center");
6406533039620, v 2dd(pnlBtn, "South");

add(pnllbl, "South");
add(pnlTxt, "Center");
6406533039621, % add(pnlBtn, "North");

Sub-Section Number : 4
Sub-Section Id : 640653133715
Question Shuffling Allowed : Yes

Question Number : 222 Question Id : 640653902510 Question Type : MSQ Calculator : Yes
Correct Marks : 5 Max. Selectable Options : 0

Question Label : Multiple Select Question



Consider the Java code given below that prints the ghest priced stock among a set of
piven Stock objects. From among the options, 1dentify the appropriate function header
for the function printHighestPricedStock that takes as mput an array of Stock objects
and prints the highest priced stock.

import java.util.*;
interface Stock {
public abstract double getPrice();
}
class AStock implements Stock {
private double price;
// Constructor
// method getPrice() that returns price
}
class BStock implements Stock {
private double price;
// Constructor
// method getPrice() that returns price
}
public class Test {
// LINE 1: FUNCTION HEADER
{
// invokes method getPrice()
// to print the value of highest priced stock

public static void main(String[] args) {
Stock[] stocks = {
new AStock(150.50),
new BStock(200.75),
new AStock(160.25)
k;
printHighestPricedStock(stocks);

Choose the correct option(s).

Options :
6406533039643, % public static <T extends AStock> void printHighestPricedStock(T[] items)

6406533039644, « Public static <T extends Stock> void printHighestPricedStock(T[] items)
6406533039645, % Public static <T extends BStock> void printHighestPricedStock(T[] items)

6406533039646, « Public static void printHighestPricedStock(Stock[] items)



Question Number : 223 Question Id : 640653902517 Question Type
Correct Marks : 5 Max. Selectable Options : 0
Question Label : Multiple Select Question
Consider the Java code given below.
class Stadium {
int available = 1;
public synchronized void bookSeat(int n, String name) {
if (available >= n) {
available = available - n:
System.out.println(name + " booked " + n + " seat");

} else {

: MSQ Calculator : Yes

System.out.println(name + " cannot book " + n + " seat");

}

}
class SeatBooking implements Runnable {
private Stadium s;
private String name;
private int n_seats;
public SeatBooking(Stadium s, String n, int ns) {
this.s = s:
this.name = n:
this.n_seats = ns;

}

public void run() {
s.bookSeat (n_seats, name):

}
}

public class ThreadTest {
public static void main(String[] args) {
Stadium obj = new Stadium();
SeatBooking sbl = new SeatBooking(obj, "Virat", 1);
SeatBooking sb2 = new SeatBooking(obj, "Saniya", 1);

Thread t1 = new Thread(sbil);
Thread t2 = new Thread(sb2);
tl.start();
t2.start();
}
}
Which of the following options 1s/are possible result/s of the above code?
Options :

Saniya booked 1 seat
6406533039672, ¥ Virat cannot book 1 seat



Saniya booked 1 seat
6406533039673, ¥ virat booked 1 seat

Virat booked 1 seat
6406533039674, ¢ Saniya cannot book 1 seat

Virat cannot book 1 seat
6406533039675, % Saniya cannot book 1 seat
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Choose the correct option.

import java.util.*;
import java.util.concurrent.*;
class Example extends Thread {
Map cuMap;
Example (Map m) {
this.cuMap = m;
}
public void run() {
cuMap.put("4","Four");
}
}
public class Test {
public static void main (String[] args) {
Map<Integer, String> cuMap = new ConcurrentHashMap();
Integer[] iarr = {1, 2, 3};
String[] arr = {"One", "Two", "Three"};
for(int i = 0; i < iarr.length; i++) {
cuMap.put (iarr[il,arr[il);
}
Example t = new Example(cuMap);
t.start();
Set s = cuMap.entrySet();
Iterator itr = s.iterator():
while(itr.hasNext()) {
Map.Entry m = (Map.Entry)itr.next();
System.out.println(m.getKey() + " => " + m.getValue());

+

Which of the following is true about the given code.

Options :

6406533039676, % 1his program may generate ConcurrentModificationException.

The program may generate the output:

1 => One
2 => Two
3 => Three

6406533039677. ¢ 4 => Four

The program may generate the output:
1 => One
2 => Two

6406533039678, ¢ 3 => Three



The program always generate the output:
1 => One

2 => Two

3 => Three

6406533039679, * * => Four
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Consider the Java code given below.
import javax.swing.#;
import java.awt.event.*;
public class ButtonEventTest extends JFrame implements ActionListener{
private JButton bl, bZ2;
private JLabel 11;
JPanel panell, panel2;
public ButtonEventTest() {
b1l = new JButton("Encrypt");
b2 = new JButton("Decrypt");
panell = new JPanel();
panell.add(bl);
panell.add(b2);
add (panell, "South");

11 = new JLabel("")}:
panel?2 = new JPanel();
panel?2.add(11);

add (panel2, "North");

setVisible(true) ;
set3ize (400, 400);

bl.setActionCommand("actionl") ;
b2 .setActionCommand("action2") ;

bl.addActionlistener(this);
b2.addActionlListener(this);
}

public void actionPerformed(ActionEvent &) {
//CODE SEGMENT
}
public static void main(Stringl] args) {
new ButtonEventTest () ;
}
}

Choose the correct code segment(s) to be filled inside method actionPerformed () such
that on clicking the Encypt button, the label text changes to Text encrypted and on
clicking the Decrypt button, the label text changes to Text decrypted.

Initial state On clicking Encrypt button  On clicking Decrypt button
-] o * & o * L] = o =
Text onoryptes Tl dicrypted
Erorypi Becrypt | | Encrypl Cacrype | | Ercrypt || Dwcrept ,

Options:

if(e.getActionCommand () .equals("actionl"))
11.setText ("Text encrypted");
else if(e.getActionCommand () .equals("action2"))
6406533039614, ¥ 11 .setText("Text decrypted");

6406533039615. #



if(e.getActionCommand () .equals("bi"))
11.setText ("Text encrypted");

else if(e.getActionCommand() .equals("b2"))
11.setText("Text decrypted");

if(e.getSource() .equals(bl))
11.setText ("Text encrypted");
else if(e.getSource().equals(b2))
6406533039616, ¥ 11.8etText("Text decrypted");

if(e.getSource() .equals("actionl"))
11 .setText("Text encrypted");
else if(e.getSource().equals("action2"))
6406533039617, * 11.setText ("Text decrypted");

Question Number : 226 Question Id : 640653902516 Question Type : MSQ Calculator : Yes
Correct Marks : 6 Max. Selectable Options : 0
Question Label : Multiple Select Question

Consider the Java code given below.

class Pattern implements Runnable {
boolean stopRequested = false;
String[] pattern = {"One", "Two", "Three", "Four", "Five"};
int index = 0;
public void run() {
while (!stopRequested) {
System.out.print (pattern[index] + " ");
index = (index + 1) 7, pattern.length;
}
}
public void setStop(boolean stop) {
stopRequested = stop;
}
}
public class Test {
public static void main(String[] args) throws InterruptedException {
Pattern p = new Pattern();
Thread t1 = new Thread(p);
&1 . atarti();
p.setStop(true);

}

Choose the correct option(s).



Options :
6406533039668, # 1he program will always generate the output: One Two Three Four Five

6406533039669 % Lhe program will always generate the output: One

The output can be One or One Two or One Two Three or One Two Three Four
6406533039670, ¢ ©r One Two Three Four Five and can also cycle back and start again.

6406533039671, + 1he program may not generate any output.
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